Errata

November 8, 2017

e Equation (26) should read

V; o
F (Vin) = 55 W (A exp (Vi) (W (A exp (V) +2)] = Vi
The expression originally presented in the paper has an additional con-
stant factor of 1 that gets canceled out during the implementation of
the antiderivative method. Therefore, this correction does not affect
the original results.

e Equation (28) should read
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e Based on the description presented in Section 6, the pre- and post-gain
factors in Figure 9 should be 1/3 and 3, respectively.



